

SERIES CHARLESTON

| Glazed Porcelain | Porcelain | Terracotta



Qualis Ceramica Charleston is a mesmerizing tribute to nature's raw power and majestic beauty. Through vivid colors and dynamic textures, it captures and recreates the striking beauty of our planet in a captivating and unforgettable way. Charleston offers a unique, vibrant product. From its brilliant colors to its warmth and creativity, Charleston adds



a special touch to any space, making your everyday life a little brighter.



PRODUCTS







Kiawah Green 40x40 40"x40" | Porcelain



Citadel Chocolate 40X40 40"x40" | Porcelain



Whitehall Bianco 40x40 40"x40" | Porcelain



Citadel Chocolate 16x24 16"x24" | Glazed Porcelain



Seabrook Blu 16x24 16"x24" | Glazed Porcelain

Seabrook Blu 2x24 Bullnose 2"x24" | Porcelain

Palms Steel 2x24 Bulinose 2"x24" | Porcelain



Palms Steel 40x40 40"x40" | Porcelain



Summerville Cotto 16x24 16"x24" | Glazed Porcelain



Kiawah Green 16x24 16"x24" | Glazed Porcelain

Kiawah Green 2x24 Bullnose 2"x24" | Porcelain

Whitehall Bianco 2x24 Bullnose 2"x24" | Porcelain



Summerville Cotto 40x40 40"x40" | Porcelain



Palms Steel 16x24 16"x24" | Glazed Porcelain



Whitehall Bianco 16x24 16"x24" | Glazed Porcelain

Summerville Cotto 2x24 Bullnose 2"x24" | Porcelain

Citadel Chocolate 2x24 Bullnose 2"x24" | Porcelain





Summerville Cotto 16x16 16"x16" | Glazed Porcelain



Whitehall Bianco 16x16 16"x16" | Glazed Porcelain



Citadel Chocolate 16x16 16"x16" | Glazed Porcelain







Citadel Chocolate 8x16F 8"x16" | Glazed Porcelain



Seabrook Blu 8x16F 8"x16" | Glazed Porcelain



Citadel Chocolate 2x2 Mosaic 12"x12" | Glazed Porcelain



Palms Steel 16x16 16"x16" | Glazed Porcelain



Summerville Cotto 8x16F 8"x16" | Glazed Porcelain



Palms Steel 8x16F 8"x16" | Glazed Porcelain





Kiawah Green 16x16 16"x16" | Glazed Porcelain



Kiawah Green 8x16F 8"x16" | Glazed Porcelain



Whitehall Bianco 8x16F 8"x16" | Glazed Porcelain





CHARLESTON





 -	100		

Whitehall Bianco 2x2 Mosaic 12"x12" | Glazed Porcelain





Whitehall Bianco 8x8F 8"x8" | Glazed Porcelain

Kiawah Green 8x8F 8"x8" | Glazed Porcelain

Citadel Chocolate 8x8F 8"x8" | Glazed Porcelain

Summerville Cotto 8x8F 8"x8" | Glazed Porcelain





Seabrook Blu 8x8 8"x8" | Glazed Porcelain



Palms Steel 8x8F 8"x8" | Glazed Porcelain



ROOM SCENES



































































		BOX			PALLET		
Size	Product type	pcs	sqft	lb	boxes	sqft	lb
40"x40"	Field Tile	2	21.52		24	516.48	
16"x24"	Field Tile	4	10.33		60	619.8	
2"x24"	Bullnose	20					
16"x16"	Field Tile	7	12.05		52	626.6	
8"x16"	Field Tile	13	11.2		45	504	
12"x12"	Mosaic	6					
8"x8"	Field Tile	26	11.2		60	672	

WARNING The information contained in this packing list is for guidance only, the contents of the packing may vary. Please consult our sales representatives for an exact list.